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sifleyenr 1 (1) oeasg damssesn sflurs sissD ufleurd) o drersr ererugenar
sflurtsgés Garderajb. sfelufedd geopullpldler semps
sanaranuTatiiLib 2 cangwurs Gsfleflssayb.

(2) Beb g smiiy eodaan (G epgeusHEL LwuaTUBSS
Geuan(Bib. LIRS cuenTeugn@ Guamdled LweuBssed.

Instructions : (1}  Check the question paper for faimess of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

{2) Use Black or Blue ink to write and pencil to draw diagrams.

@iy : @euelamrggrer epsnp Ofeysemens QaramLg,.

Note : This question paper contains three sections.

9fley- I / SECTION - 1

(L& Quanser : 15) / (Marks : 15)

@iy = () @udflefié edmen 15 elemasEps@w ofleanLwalssaw. 15x1=15

(i) seLuys @illae Gar@sstulHearer wrHm el safld
Baah sflurer eflen e Carpbs®ss srapsayib.

Note : (i)  Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.
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1. Quar d Carlol ulLrefl (amueb elamiald) Genuslid 7 aumawrar wrHm
2 mau GaumurHisamer sam_Hbsti. Suparateundles g cuens Ceumum(p wmd
e areng). g Ceuans sambHidly.

(&) samgen 2wyh - Aplent Glan

(&) elangufem Bl - ghser, Léme

(@) wafldr sewvelLw - mafl, Camenr

(7) serm(® senwly - Ceaepowrang, Sigannreang

Mendel observed 7 pairs of contrasting characters in Pisum Sativum. One of the
following is not a part of that. Find out.

(a}) Tall and dwarf

(b} Yellow and green seed colour

(c) Terminal and axial flower

(d) Smooth and rough stem

2. Yops EREEssE pedld Aarpssuufv Cpmus sEUYE

() cumieufl GumrallGur (<31,) DPT
(@) DPT wihmib CureliGuir () BCG
The first vaccine injected into a just born baby is

(a) Oral Polio (b) DPT
(¢) DPT and Oral Polio (d) BCG

3. gpeflenaellantdy eamLm@b H& smmelen cuentéflée oml L Seflssadag
(21) ensCami (=) o @lisds
(@) sva Qcvaib (7) smaper

The product of triple fusion which acts as nutritive tissue for the development of embryo
is:
(a) Zygote (b) Placenta

{c}) Scutellum (d) Endosperm
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e 6T &STHOILMTE SEUTESS QTTE 2 L Teug) :

(<=1) rdled epslab () enumells ojbleid
(@) argsanned (7) oflas oufwi
The product obtained in the Anaerobic respiration of veast is :

(a) Lactic acid (b)  Pyruvic acid

(¢) Ethanol (d)  Acetic acid

Geré Gpbloes GsrEulbd faglume @b,

(=) BTEUTRISET (=}) urse flukiger

(@) seuener () steur mameudrser
The are decomposers in the pond ecosystem.

(a) Plants (b) Bacteria

(c) Frog (d) Phytoplanktons

Leflulen wamhuriy @@ GHILGL SetallhE Cuoed epliymenear Seeyer
Qamremarpig i Hlanew Gremii(hLD.

(=1) Qsefli i Hlenew

(<) Ogall g Hlene

(@) @gbgeiicqu flee

Earth soil cannot store more nitrogen than it can hold. Hence earth soil is referred to be
in a state of

(a) Saturation
(b) Unsaturation

(c) Supersaturation

pH= ~log;s (H*) @ semreaiiain enam_reen yweafufen Gedey 0.001 M erafe,
Sgen pH wdloy :

(=) 3 (=) 11 (&) 14

pH= —logy, (H*). The pH of a solution containing hydrogen ion concentration of
0.001 M solution is

(a) 3 (b)y 11 () 14

[ Egpslys / Turn over
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Sandg sflwéd CaTLRSERSFGHL HgUumlwrear s

Gsrgduda o drerg.
(21) 14 -aug (<) 15 -augy

An element which is an essential constituent of all organic compounds belongs to

(a) 14th group (by 15t group
@rsssfer Aeuly Hlodl (afiCorgCearQa) 2 Conrssmss
|G T (R ETET G
Clsram@sarg)
(<) Ca () Co (@) Mg = Fe
_ . metal is a constituent of bloed pigment (haemoglobin.
(a) Ca (b} Co (c) Mg {d) Fe
WanerrsHanssd sLGgw srrualiear LnGaunmeny g eibd
5) = Féj I'_l v Q‘l =
(=) @eurd (=) yranul (@) Hwssf (/) wrast
A good conductor among the allotropes of carbon is
(a) diamond (b}  graphite (c) coke (d) charcoz!
ghSlywmes ____ Brisar eflamantler Glewdu g
(1) 213 (e=4,) 321 (@) 312 - 23
Chandrayaan operated for days in space.
(a) 213 (b) 321 (cy 312 4y 251
a(m SGar eurl went! eTaTLg) paEE
(2)3.6 %1075 (24) 3.6 % 10° (@163 x10° ()63 %1076
One kilo Watt hour is Joule.
(a) 3.6x10~9° (b)  3.6x10° (€} 6.3x106 (d) 63x10°6
AEETG anigeuetlen Wler @ wssE adlens (emf) _
(A @58 1A aflel e @w&E o f
()15 V (<4)1.08 V (@) 22V (/F) 25V
The electro motive force (emf) of lechlanche cell is _ _
{a) 15V (by 108V (c)y 22V (d)y 25V
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apuyar awrenr Ggreve Grréd Quilu ugsdlen Qgellaurer Gugems
2(HauT&sLO Gin AurEss Ul @ eugaimwssiulfarang;.
(51) @6l e <) 59 gE
(@) Bem eusmerus yuHar T FLSAT BHlQEHE
The Hubble space telescope designed =th two _ is known for good imaging
performance over a wide field of view
(a) Convex mirrors by Concave mirrors
(¢} Hyperbolic mirrors (&} Plane mirrors

eSlemBenaer NengeughE; sryem

() pafl adl@rreflsga <) suafloadre gefleilossd
(@) efluier HiplQfiers =) paflaflgna

Twinkling of star is due to :

(a) Reflection (b} Atmospheric refraction

(¢} Dispersion (d) Scattering

Sifley~ I / SECTION - II
(odlibluamssr - 40) / (Marks : 40)

Answer any twenty questions.

Hvelger s ghaTe wallga war Aarssuule walls Qearmaman
auflenguBssetb.

(Bwram_igre wellgen, GanrGur Clenden, CaprGur srysav, GaprCGior
ClEllwer)

Sequentially arrange the different species of man from primitive to modern man.
(Neanderthal man, Homo habilis, Homo erectus, Homo sapiens)

QerRssiulBarer 2L pGapurisalae geflura gdiawn $E5Hs
GNTERTRIFHEHL65 SETLDIBS) 6T(LSS.

(Bnsemn®. adCuridlur, wrewnssar, sdbaflen, s oiflaurda, @rés
Csrena Grmul) _

A list of disorders is given below. Pick the odd one out and give reasons.

(Colour blindness, haemophilia, night blindness, albinism, sickle cell anaemia.)

[ &mlus / Turn
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Sss6TL ULGMS cuenThsl <2 wHNIL < ellener GQuuwifleyi.

Copy the diagram given below and write the names of A and B.

7 = ~ r\

/o

\J///‘V\

a

A

SlpdaamL eursdlwnisemen sealafl.

ganml (A) : QL sroduller &riy wop BremsSidars srilamens
SLHUU@ssSnsg.

snyevord (R) : Dyt LA &5l e Qs prymdamasruuraranyy Gura

Qeweu®dlng.
5Gp GH0GLGaer R we sfiurer sfelow CaipasE.
(<=1) (A) #f (R) sflwurs QuTmBHeSdhene
(<) (A) &l (R) geupy
(@) (A) poum (R) &l

() (A) efl (R) #flwrs Qurmbgidng.

Consider the following statements.

Assertion (A) : The secretions of pituitary gland controls all other endocrine glands.
Reason (R} : It is known as the conductor of endocrine orchestra.

Now select your answer according to the coding scheme given below.

a)  (A) is correct and (R) is not giving correct answer.

(

(b)  (A) is correct and (R) is wrong,.
(¢) (A) is wrong and (R) is correct.
(

d) (A) is relevant and (R) is giving correct reasoning.
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amgrrsedlen - e apriGoren

S_ferellesr - _____ .
Based on relationships fill in the blanks.

Thyroxine - Personality hormone ;

Adrenaline -
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@eruQumss wpenpasmer ishEflu 2 WflamisGarr@ CQurrsss.

Hergzen evenuCrrensym FREL

Simbusd | YGrrl GunCereuenser | slenl ypsser

G @TLTSE YenyGum’.iSéveuid unrdeflwr

Match the type of reproduction to the suitable organisms.

Fission Spirogyra Yeast
Budding Protozoans Flatworms
Fragmentation Bryophyllum Bacteria

gomovdda sglumLwle sambs.
Hbmsan  : user ga@Bser
Qeuersure e

Based on relationship : fill up :

Whale : Baleen plates.

Bat

http://www . tamilnaduboard.com
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QeuafGummb sfley

sifleyit Clumm_aer

miequSya

STTLGTML Zydmen(), 6

24,651 MEED

T

Camev

oAl Ten ey

Fill the tabular column.

Excretory organ

Excretory product |

Sent out as

Lungs

CO,, Water Vapour

Skin

Sweating |

UL gdlear euenybg erenauCgnid Gim Lrshisamer GHé&s.

Copy the diagram and label anv two parts.
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weflgaflen seurgd srporearg ______ edlurs ____ &@E CQeddipg.
Bergefler Brreng auPlure oL gis@er Geamy B senrhgerer
<&l mei &E@er Lgeydlms).
In human beings air enters into the body through __ and moves into
. In fishes water enters into the body through _ and the dissolved

oxvgen of water diffuses into

Qurmsswnnas B&Es.

(1) sreugmaar, Geul Hadlafl, geusmer, L, Lmbyy

(=) spenenoane, GCargwéseny, Ceul hsTmised, (DTl Haienn
Pick the odd one out.

(@) Plants, grasshopper, frog, tiger, snake

(b)  Anamalai, Point Calimere, Vedanthankal, Mundandurai

hnme Cslléds osajb srsamsmens Epsar e ®hs
Carh6gH&saLD.

gefimb uaygdr, grly Vet e, Gilu ErEGrpd, darfr GEup,
LriiehoLeir ellemd@aern, Wenangml Llem ienL.

Pick out the suitable appliances to conserve the electric energy.

Fluorescent bulbs, Copper choke, Solar water heater, Electric water heater, Tungsten
bulb, Electronic choke.

geuamD &Ll FST g S(HESSE.

(=) GrawLmd oo s5dsf0y wepurd ugybhs wLOHOL WsEEWD
QummL_sener BESOTWD.

(=) Gl Cren, Qubens eurujelley sTamlLI(RID (pFemenwmen ClLm(mer.
Correct the statement.

(a) Thesettled and floating materials are removed by the secondary treatment method.
(b) Butane is the chief component of natural gas.

[ S(pliys / Turn over
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QurEbstsms £&E5.

(1) 209f g dsenrd, LimE wsd, 2.8l FeT, AU Crredlun

(=) amapm, el .umi®, derdl dydg, 50048

Pick the odd one out.

(a) bio-alcohol, green diesel, bio-ethers, petroleum

(b) cholera, tvphoid, scabies, dyvsentery.

10 &gmd srgryert e-leu 40 Syt Bhld sargdlGularg e maurar seorsw
Qefleflen Heop sselssons samsd(Ds.

Take 10 g of common salt and dissolve it in 40 g of water. Find the concentration of
solutions in terms of weight percent.

euenrwmy : GGTeTaflwer GusSsLD.

Define Brownian movement.

'l eranugy GGemmflen o@meeuud, ‘Cly eratug @Cermilen pp@&amenpud
GRUUma Talld JHEESEREGD APVSEFHNIFEREGD 2o Ceumpuriamar
S L suenanTL (DS,

‘Cl' represents chlorine atom, ‘Cly" represents chlorine molecule. List out anv two
differences between atoms and molecule.

g soredda @aplrréme® swaflllar Qedley 1.0x10°7 M e d,
seorseder pH wgluemud sawHitly.

The hvdroxyl jon concentration of a solution is 1.0 10" 9\, What is the pH of the
solution ?

sriw enplGri ugshsme ifls BaTey Gl lufszoturgy g
auryensus Qer®adng. wHDL BES uryelear Fmb

Crystals of lead nitrate on heating strongly produce a ____gas and the colour
of the gas is

sigfiefu 2 Carss swame aurgridulldn urshisd surfidsy LwaLdng.
SIBDETEN FTTRTRSHEE FaDeyd.

To design the body of an aircraft, aluminium allovs are used. Give vour reason.

http://www . tamilnaduboard.com
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oy @it HC wuhpbd oiur Hy,S0, ecar efleanyfidng. <emred i
HNO; oL e eilenenyfloug) Qarenw. o Mw sryamsgen e sl ew cpgis.

Iron reacts with Con. HCI and Con. H,SO,. But it does not react with con. HNO,,
Suggest your answer with proper reason.

aMSTL USULDSSQGGL Lwenu(w (A) eramp sflo Cerwgdlar apsanm
amiurh GHO,. @6Csiub aggamgLan dlmayflts @alln waruperLw
Gsrwd (B) enwig SmEDS).

(i) Cerwb (A) LOHMmL (B) erwis san(HiGgéa

(i) @ouepdea QUWATE, gear CaudéswaurieL awWas.
Anorganic compound (A) is widely used as a preservative in pickles and has a molecular

formula C;H O,. This compound reacts with ethanol to form a sweet smelling
compound (B).

(i) Identify the compound (A) and (B).

(i) Name the process and write corresponding chemical equation.

¥

&p

o

lrwrean-1 0 5CsmH Qer ymiw Ao fneuarisaia Quuisear Gy
BésLul Peararar. e do Quuisda Csr@H Qgrmnfdansama.
Qer_irldaarg Fnuaiisailar Quuisamear uliqueadl@s.

£y

&1

(b elenCeusdl ey mwowb, UTUT e HITUES @wub, Brer
efl@rGleuetl emwwbd, gCrruliu edlarGeae s Lamwiy Ppauanb, e ws
&FErHTT MOWD, eramQenl erfleumys HPHW)

The names of some organisations which are associated with Chandrayvaan-I mission
are given below, but some of them are not. List out the wrong ones.

(ISRO, BARC, NASA, ESA, WHO, ONGC)

Bl Laflen ity elflenw euenrwimy.

State the Newton’s law of gravitation.

Wengeen, larsE, bBLLT whpbd sred Qeupens Qarare Wensdy
UDTE.

Draw a schematic diagram of an electric circuit comprising battery, bulb, ammeter
and a plug key.

| &imlus / Turn over
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Gamgl L @h figener Brlys
(1) Dananpds Caumur®  :  Gauredl Blor erafla

wleanGenmiLib
(=) Brdanglenewits D opysrt &hnd erafid

&flw dmd S
Fill in the blanks :
{a) DPotential difference : Voltmeter, then current :
(b} Power Plant : Conventional source of energy, then solar energy :
Blewr o (bl 2 Camads soameuutd en soll Eh. Qg =ds
Wlemgeniamuilb 2 (M5 Blavwewyd Carer g).
Fuse wire is made up of an alloy of which has high resistance

S G Qeadlen @elluggmod 4 15 eraficr, Qevenélen Smen sreims.

The focal length of a concave lens is 4 m. Calculate the power of the lens.

Gereumn Gerp@nr fiée Qanpseflplibda Hinsseyn.
(=) srhsly@bD eramodliy Ll (b Carar_ ey

(=) 6THs elanssGar@sd sThs Qganapmandda GigT g L. wpenanlle
(PlgLID.

Correct the mistakes if any in the following statements.

(a) Magnetic field is a quantity that has magnitude only.

(b)  The magnetic field lines emerge from the south pole and merge at the north pole.

SGemfly @ somns eflflenws euenyimy.
Define Fleming's left hand rule.

http://www.tamilnaduboard.com
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Sifley - HI / SECTION - I

(L UQuengar : 20) [ (Marks : 20)

[

G@oloy : ()  gaubaunm ugdldiEian @ oS eSgb nrerg elarssemés

Note :

46.

-~

aflen_weafl&seuh. 4x5=20
(i) gclbleurr alemrelinEo prs wALOUETSET.

(i) Caameuwre GLmsald L wanys.

(1)  Answer any four questions by choosing one question from each part.

(ii) Each question carries five marks.

(iii) Draw diagram wherever necessary.

@S - 1/ PART -1
() 2.8l e el aremmmey reman?

e T

i

gzeul whmb Gemfhesraesaica euldr o arflufidr uwdnaame er(ps).
(a) What 1s Bio sensor ?

{by  Mention its uses in Medicine and Industry.

2 misdr uGHulla wCaflur ugell o drarg.

(21} wGflwrenay Lrliyb CemussTrafieow sam.

(@) @s@aé sLQULEEs e ugdla o flu e@aatsEés 5655
2,CTEMET QULDEIE,

(@) vCaflureiler sfwrer Ceru @iflgiulman CarpEsBoa T(15s.
(Beflt, pH&sL wHpb s@ranssa, Cud))

There is a widespread outbreak of malaria in vour area.

{a) Give the causative agent of malaria.

(b) Suggest some controlling measures Lo the local authorities concerned.

(¢}  Pick out the right symptom for malaria.

(chill and shiver and a rise in temperature/diarrhoca)

[ Sigmliys / Turn over
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u@dl - 11 / PART - 11

(a1) YoEL srartsaild sl Bupn urdlar Gumss gpenpulld FEUGD
Qe Hlapasmen aT(pgs.

(=) 5o Blapey wHmb Heupdlear amssman cllaflss.

(@) siseflen patann Sepwseaner TUPsIs.

{a) Write the two events involved in the sexual reproduction of flowering plant.

(b) Discuss the first event and write the types.

(c) Give advantages and disadvantages of that event.

(1) uge CeuduShwe erammmed ereden?
(o )uasew Geudluliudlen eflemeareuns e amLr@gw Cummerser Aoaumenmll
uiiguietlBa.
a)  What is Green Chemistry 7
) ¥

(b} Mention the products produced by the process of green chemistry ?

L@$) - 111/ PART - I
(=) pelen ognsQerdemslen ApliLdempsdr apsnlensst sam.
(<2) 90 & H,0 2 érer Curédsafién cranaxilsmasamus senasl(Hs.
{a) State any three findings of modern atomic theory.

(b) Calculate the number of moles in 90 g of water.

Gemeu(peuemeupBles Qurgill QU LHMDL GULITEDT PSS,

{1) CH4CH,CHO (<) (TH3—C|H CH, (@) HCHO
OH

(%) CH,COCH, (2.) CH,COOH

Write the common name and TUPAC name of the following :

(a) CH,CH,CHO (b) CHB—Cl.'I I—CH;y (c) HCHO
OH

{d) CH;COCH, (e} CH,COOH

http://www . tamilnaduboard.com
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u@d - IV / PART - IV

L=+

(=4) HlemdEb, aaLsEn oeater Caunpurfsmar ol L suenaTiuBss:
(eremeuGuienid mre &)

(<o) Blenain sfldlenws euenyimy.

{a) Tabulate the difference between Mass and Weight {Any four)

{b) Define the law of inertia.

(<31) Suparen UTsRIGMeT UL eueThs @GNHEEaD.
{a) Draw and label the diagram given below.

H

D) u@sdi (i) oo s
(itiy 1Darsdlm (iv) efle@Carammd
(v) dlans wrhpsCaramb (vi) &SHCaramd
(i)  Incident ray (i) Refracted ray
(i) Emergent ray {(iv)  Angle of refraction
(v) Angle of deviation (vi} Angle of emergence
() maurgdlear peaflallasd aar 242 gealllar dasCussmst QuTmSS

@&QsrhHQor_fer Qummer wrg?

{b)  The refractive index of diamond is 2.42. What is the meaning of this statement in
relation to speed of light ?

-00o0-
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